SIYre VAR "l

right. On average, an adult maie cariuws v
determine | atbirth

26 times more than newborn. How can you
the average weight of an adult male caribou?

Look for Relationships How do
the two weights relate? @Mp7

3,6
el

W

ONE WAY Write the two expressions in expanded form. ANOTHER WAY Use the Produc

Property.

!
13 zf | | & 28 X265 534629
z
2X2X2X2X2X2X2X2X2 ¢ , ’Th P’;’d'.' ;
(y Ao e uct of Powers Proper

;5 ’;‘nel:ltiplied 2 ;s multiplied | | states that when multiplying
imes . two poi grs with the same

‘, ' base he e
' Join the two | 15 N el
| expressions. | : SRt K v
| 3 vl Keep Hbas
2 \/ | - NESP Tr-base
X2X2X2X2X2X2X2x2=29 | ol
: ‘o
2 is multiplied ‘ i i
9 times e I‘ Ly
aTryIt. Bee Lie o ' RIS .
The local 200 wel . ' "' ' > T . » .
e comed a newborn African | R :
g. Itis expected that at adulthood r;;aennelephant that weighed : "'l "/

ewborn elephant wi
3 t will weij .
weight. What expression eigh \3 \5

€ newborn elephant?

* .

Convince Me!

. Explai
mathematical sense. "Wy the Product of Powers Prop rty
€rty makes



X @x 12) % ({;( & ’J gse the Associative an;m
5 \\[__ OMmmutative Properties.

i inches Use the Power of e

P ,r%’.ﬂ-};r
o e I R |

gt

123 cubic inches

»' i‘°} Find the Power of a Power

t expression for (52)4.

5 s ——

d 4 times J Use the Product of Powers
" Property to add the exponents.
“ =

o

B — UL S —

[ OSS— |

The Power of Powers Property states that to find ‘ e. )
' the power of a power, he exponents. aSt

~ 5 2

t expression for 6° + 6. b -

————

Write .as a fraction. , Co -

8
o
Z
2

ates that |

4 e — s

& oo

PRSI

.I" t of Powers Property states
gvbﬁeegl(;?:li:::lg two exponential expressnorz
with the same bashe exponents.

EaN BN
3
o




